MULTIPLICATION

A COUNTING BY 2S

A.1 SKIP COUNTING

Ex 1: Count by 2s:

(2[4 [o6[s [[ro]][r2][[14]]16]]

Answer:

2] 4]6[8]10][12]14]16 |

Ex 2: Count by 2s:

|4 [[6][ 8 [[1o]] 12 [[1a]] 16 [[18]] |

Answer:

[4]6[8[10 121416 18 | |

Ex 3: Count by 2s:

10 [ 12 [[aaf[[r6]] 18 [[20]] 22 [[24]] |

Answer:

[10 [12 [ 14 [ 16 [ 18 [ 20 | 22 | 24 | |

Ex 4: Skip count by 2s to find the total money:

Answer:

28+ 2% + 2% + 28 = 8$
The total money is 8 dollars.

B COUNTING BY 5S

B.1 SKIP COUNTING

Ex 5: Count by 5s:

[ 5 10 [ 15 | 20 [[25]][30][[35]][40]]

Answer:

[5 [ 10 [ 15 [ 20 | 25 [ 30 [ 35 | 40 |

Ex 6: Count by 5s:

(15 =[] % [[50]] 5 [[5]] & [[50]]

Answer:

[ 15 [ 20 | 25 [ 30 | 35 [ 40 [ 45 | 50 |

Ex 7: Count by 5s:

20 | 25 | [30][[35]] 40 [[45]] 50 [[55]

Answer:

[20 [ 25 [ 30 | 35 | 40 [ 45 [ 50 | 55 |

Ex 8: Skip count by 5s to find the total money:
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[20] 8

Answer:

[ 5 [ 10 [ 15 [ 20 |

5% + 58 4 53 + 58 = 20$
The total money is 20 dollars.

C COUNTING BY 10S

C.1 SKIP COUNTING

Ex 9: Count by 10s:

30 | 40 | [50][[60]|[70]]]80]

10 20

Answer:

[10 [ 20 [ 30 [ 40 | 50 [ 60 [ 70 | 80 |

Ex 10: Count by 10s:

[ 30 [[40]] 50 [[eo]] 70 [[s0[] 90 |[100]]

Answer:

[30 [ 40 [ 50 ]| 60 [ 70 [ 80 | 90 | 100 |

Ex 11: Count by 10s:

40 | 50 |[60]||70]| 80 [[90]| 100

Answer:

[40 [ 50 [ 60 [ 70 [ 80 [ 90 | 100 [ |

Ex 12: Skip count by 10s to find the total money:

Answer:

[10 [ 20 [ 30 | 40 |

10$ + 108 + 10$ + 10$ = 40$
The total money is 40 dollars.
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